ABN: 91 087 231 936 465 Maroondah Highway LILYDALE VIC 3140

Ph: 03 9739 5006 Fax: 03 9739 5187 Email: administration@agpower.com.au

Web: www.agpower.com.au





#### \* \* \* DOCUMENT COPY \* \* \*

Bill To:

**Customer Details:** 

## **SERVICE TAX INVOICE**

Document No.:1099224Document Date:30/09/2025Repair Order No.:523842Rego No.:TER137Make/Model:NEW HOLLAND TN95FAVehicle ID No.:HJU010933

Paint: BLUE

Odometer:

Delivery Date: 11/01/2005

Invoice To: Customer ABN: Tax Exempt No.:

P/Order No.:

Page: 1 of 5

**CUSTOMER JOB** 

LABOUR CHARGE \$5,000.00

INSPECT ENGINE FAULT

\_\_\_\_\_

Engine runs rough and burns a lot of oil

Suspected piston grabbed bore

Washed engine

Removed parts from around top of engine

Inspected piston and bores

Found piston number 2 has worn down bore a lot and cracked top of bore

Engine will need to be removed and stripped down Removed fuel tank, radiator and all hoses and cables

Unbolted supersteer and rolled out front axle

Jacked cab up off main frame to get bell housing bolts

Fabricated lifting points for engine and unbolted and removed engine

Modified bolts to be able to engine stand

Fitted to stand

Removed sump, balance shaft girdle, fuel pump, hydraulic pump, all timing gears, camshaft, lifters, timing gear housing, pistons,

crankshaft and took front axle to wash bay and cleaned

Reassembled parts on tractor

Have left running with oil in injector pump

See how it goes tomorrow on restart

Checked cold start solenoid and removed and cleaned and refitted to tractor

Removed fuel filter and found water and other things in filter

Removed low tank and cleaned

Refitted with new fuel

Flushed fuel lines and pump

Placed new filter in tractor with oil in it

Ran tractor running ok

Restarted tractor misses on start-up then ok

 Part Number
 Part Description
 Quantity
 Nett Value
 Total Cost

 14463681
 O-RING
 2.00
 6.04
 12.08

 14456981
 O-RING
 1.00
 2.93
 2.93

ABN: 91 087 231 936 465 Maroondah Highway LILYDALE VIC 3140

Ph: 03 9739 5006 Fax: 03 9739 5187 Email: administration@agpower.com.au

Web: www.agpower.com.au





### \* \* \* DOCUMENT COPY \* \* \*

Bill To:

#### **Customer Details:**

# **SERVICE TAX INVOICE**

 Document No.:
 1099224

 Document Date:
 30/09/2025

 Repair Order No.:
 523842

 Rego No.:
 TER137

 Make/Model:
 NEW HOLLAND TN95FA

 Vehicle ID No.:
 HJU010933

 Paint:
 BLUE

Odometer:

Delivery Date: 11/01/2005

Invoice To: Customer ABN: Tax Exempt No.: P/Order No.:

Page: 2 of 5

CUST	TOMER JOB				
	TAUS325DIFIC	DIESEL FUEL INJECTOR CLEANER 325ml	1.00	10.84	10.84
	FR	FREIGHT	1.00	35.00	35.00
	HCB2136589	HOSE CLAMP 65X89	1.00	3.31	3.31
	5167989	SEAL	1.00	3.36	3.36
	SL7	SPLIT TUBING 7MM BLACK	0.50	1.16	0.58
	5108225	MOUNT RUBBER	1.00	15.93	15.93
	504127326	SEAL	1.00	27.47	27.47
	4851923	GASKET	1.00	4.05	4.05
	4849994	GASKET	1.00	6.51	6.51
	98482590	GASKET	1.00	8.77	8.77
	98463638	THERMOSTAT	1.00	37.89	37.89
	4824417	VALVE ENGINE INLET S	1.00	23.63	23.63
	14457780	O-RING	1.00	0.86	0.86
	4823212	GASKET	1.00	7.13	7.13
	98416134	WASHER SEALING	4.00	23.60	94.40
	4802126	GUIDE VALVE	5.00	3.28	16.40
	4780627	CONNECTING ROD BOLT	8.00	4.69	37.52
	4847092	GASKET	1.00	0.92	0.92
	BPC33284	PISTON & PIN	4.00	79.76	319.04
	4851004	GASKET	1.00	3.44	3.44
	CT30045BS	CABLE TIE 300MM X 4.5MM	15.00	0.12	1.80
	4858605	RECTANGULAR 8 X 12 X 1	1.00	0.70	0.70
	M14X80X20	BOLT	4.00	3.10	12.40
	5146468	O-RING	1.00	4.20	4.20
	M10X35X125	BOLT	3.00	1.06	3.18
	M10FLAT	WASHER	4.00	0.17	0.68
	S145024	INJECTOR ASSEMBLY	1.00	124.22	124.22
	14328201	PLUG	1.00	0.34	0.34
	98400787	GASKET	2.00	5.73	11.46
	3333	ASSEMBLY LUBE	1.00	20.75	20.75

ABN: 91 087 231 936 465 Maroondah Highway LILYDALE VIC 3140

Ph: 03 9739 5006 Fax: 03 9739 5187 Email: administration@agpower.com.au

Web: www.agpower.com.au





## \* \* \* DOCUMENT COPY \* \* \*

Bill To:

**Customer Details:** 

# **SERVICE TAX INVOICE**

 Document No.:
 1099224

 Document Date:
 30/09/2025

 Repair Order No.:
 523842

 Rego No.:
 TER137

 Make/Model:
 NEW HOLLAND TN95FA

 Vehicle ID No.:
 HJU010933

 Paint:
 BLUE

Odometer:

Delivery Date: 11/01/2005

Invoice To: Customer ABN: Tax Exempt No.: P/Order No.:

Page: 3 of 5

CUSTOMER JOB					
98400784	GASKET	1.00	4.78	4.78	
17094960	GASKET	1.00	40.97	40.97	
4600753	SEAL	1.00	23.31	23.31	
4600190	WASHER LOCK	1.00	2.61	2.61	
84257511	FILTER HYDRAULIC OI	1.00	91.12	91.12	
4031577	SEAL	1.00	21.31	21.31	
84214564	FILTER FUEL	2.00	25.49	50.98	
0964463	ALUMINUM WASHER	14.00	0.46	6.44	
51010001	WINKEL GASKET PLUS DARK GREY TUBE 70ML	1.00	18.10	18.10	
47909214	SEAL	1.00	25.94	25.94	
19816934	THRUST WASHER 2PR	1.00	18.77	18.77	
21184510	FRONT C/SHAFT COVER GASKET	1.00	21.79	21.79	
HYL200	HOYLOMAR 200GR	1.00	31.25	31.25	
19916796	TIMING COVER GASKET	1.00	21.27	21.27	
19898013	INLET MANIFOLD GASKET	2.00	4.48	8.96	
19921810	SUMP GASKET	1.00	83.81	83.81	
19834562	ROCKER COVER GASKET	1.00	36.95	36.95	
S2809	BONDED SEAL 1/2	2.00	0.85	1.70	
19870558	EXHAUST MANIFOLD GASKET	4.00	3.37	13.48	
S5689	BONDED SEAL M16	8.00	1.22	9.76	
S2810	BONDED SEAL 5/8	2.00	0.85	1.70	
84222017	FILTER ENGINE OIL	1.00	44.47	44.47	
19816864	CONNECTING ROD BEARING PAIR	4.00	9.88	39.52	
98400776	GASKET	2.00	13.11	26.22	
98400781	GASKET	1.00	5.89	5.89	
98400782	GASKET	1.00	5.39	5.39	
34678828	SUMP GASKET	1.00	34.08	34.08	
47909212	SEAL	1.00	25.98	25.98	
98400794	GASKET	1.00	16.26	16.26	
98400797	GASKET	1.00	2.66	2.66	

ABN: 91 087 231 936 465 Maroondah Highway LILYDALE VIC 3140

Ph: 03 9739 5006 Fax: 03 9739 5187 Email: administration@agpower.com.au

Web: www.agpower.com.au





## \* \* \* DOCUMENT COPY \* \* \*

Bill To:

#### **Customer Details:**

# **SERVICE TAX INVOICE**

 Document No.:
 1099224

 Document Date:
 30/09/2025

 Repair Order No.:
 523842

 Rego No.:
 TER137

 Make/Model:
 NEW HOLLAND TN95FA

 Vehicle ID No.:
 HJU010933

 Paint:
 BLUE

Odometer:

Delivery Date: 11/01/2005

Invoice To: Customer ABN: Tax Exempt No.: P/Order No.:

Page: 4 of 5

CUSTOMER JOB				
24404178	MAIN BEARING PR	5.00	9.66	48.30
98418533	SEAL	1.00	6.87	6.87
98418621	GASKET	1.00	1.56	1.56
98460411	BUSH LITTLE END	4.00	28.92	115.68
0964460	COPPER WASHER	9.00	3.07	27.63
S2765	D SHACKLE 8MM 5/16	2.00	0.83	1.66
99445564	GASKET	1.00	12.30	12.30
99457401	GASKET	1.00	44.42	44.42
19605478	SEMI-FINISHED CYLINDER LINER	4.00	32.60	130.40
BPC34284	PISTON RING SET	4.00	56.72	226.88
500378759	SEAL	1.00	5.61	5.61
504092109	GASKET	1.00	8.60	8.60
S8964	O'RING 2 X 10MM 70 SHORE	1.00	0.05	0.05
19600896	CYLINDER HEAD GASKET	1.00	29.21	29.21
HCB281120	HOSE CLAMP 11-20MM	2.00	1.16	2.32
M10SPRING	WASHERS	2.00	0.15	0.30
80271	HEATER HOSE 16MM	1.50	6.20	9.30
TAUS408BC	BRAKE CLEANER 390G	2.00	5.95	11.90
HCB2131427	HOSE CLAMP 13MM 14-27MM	5.00	2.32	11.60
HCB2134064	HOSE CLAMP 40-64MM	2.00	2.62	5.24
17290281	GASKET	1.00	5.60	5.60
17288681	O-RING	1.00	2.61	2.61
M10X80X125	BOLT	4.00	1.08	4.32
M12X60X125	BOLT	2.00	1.59	3.18
F3720330BLK	3MM CABLE BLACK	0.50	0.60	0.30
HI833300020	LONG LIFE COOLANT 50% GREEN 20lt	1.00	71.08	71.08
M10X100X125	BOLT HEX HD	1.00	2.04	2.04
M12X100X125	BOLT	2.00	1.97	3.94
56251	NARVA QCK CONNECT HOUSING 1WAY	1.00	0.53	0.53

ABN: 91 087 231 936 465 Maroondah Highway LILYDALE VIC 3140

Ph: 03 9739 5006 Fax: 03 9739 5187 Email: administration@agpower.com.au

Web: www.agpower.com.au



# NEW HOLLAND AGRICULTURE

### \* \* \* DOCUMENT COPY \* \* \*

Bill To:

**Customer Details:** 

## **SERVICE TAX INVOICE**

 Document No.:
 1099224

 Document Date:
 30/09/2025

 Repair Order No.:
 523842

 Rego No.:
 TER137

 Make/Model:
 NEW HOLLAND TN95FA

 Vehicle ID No.:
 HJU010933

 Paint:
 BLUE

Odometer:

Delivery Date: 11/01/2005

Invoice To: Customer ABN: Tax Exempt No.: P/Order No.:

Page: 5 of 5

**CUSTOMER JOB** 

17284481 GASKET 1.00 4.41 4.41

Parts Totals: 198.50 \$2,385.10

**ENGINEERING** 

ENGINEERING WORK \$350.00

-----

Machining and replacing 4 cylinder liners

SUBLET

HONE AND MACHINE BLOCK \$1,016.50

SUBLET CYLINDER HEAD

SUBLET CHARGE \$595.00

CHECK AND ASSESS CYLINDER HEAD

-----

SUBLET01

INSPECT AND QUOTE ON INJECTORS

Service Reminders Advisor: ANITA TONKIN

09/01/2025ENGINE BURNING OIL SUSPECT HAS BEEN OVERHEATEDENGINE RUNNING HOTWEAR IN 440 HEALESVILLE YARRA GLEN ROAD

Thank you for your business and support

Trading Hours

Monday - Friday 7am to 5pm
Saturday - 8am to 12pm

Bank Account Details for Direct Payments: Bank: CBA Branch: St Arnaud

BSB: 063892 Account No.: 10043824 Account Name: Agpower and Transport

 Parts:
 \$2,385.10

 Labour:
 \$5,000.00

 Sublet:
 \$1,611.50

 Misc.:
 \$350.00

 Total GST:
 \$0.00

 Total:
 \$9,346.60